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QUESTION 1

Which statement describes a cell in a Network Deployment configuration? 

A. A cell can consist of multiple nodes and node groups. 

B. A cell only contains one node that contains one server. 

C. Nodes and node groups in the cell are administered from the node agent. 

D. Nodes and node groups in the cell are administered from the job manager. 

Correct Answer: A 

Reference: https://www.ibm.com/support/knowledgecenter/en/SSAW57_9.0.0/
com.ibm.websphere.nd.multiplatform.doc/ae/welcadminagents.html 

 

QUESTION 2

How can an administrator configure Web services security? 

A. Customize WS-Security policy set and bindings and attach to Web services. 

B. Configure global security with LDAP authentication and map the configuration to Web services. 

C. Request application developer to use Web Services Security API to achieve Web services security. 

D. Enable the Web Services Metadata Exchange (WS-MetadataExchange) protocol to enable message-level security. 

Correct Answer: C 

The Web Services Security specification provides a flexible framework for building secure web services to implement
message content integrity and confidentiality. The Web Services Security service programming model supports this
flexible framework by providing extension points to integrate new token formats, and methods to obtains keys needed
for message protection. The application server programming model provides Web Services Security programming
application programming interfaces (WSS API) for securing SOAP messages. 

Note: WS-Security is a message-level standard that is based on securing SOAP messages through XML digital
signature, confidentiality through XML encryption, and credential propagation through security tokens. The Web
services security specification defines the facilities for protecting the integrity and confidentiality of a message and
provides mechanisms for associating security-related claims with the message. 

Reference: https://www.ibm.com/support/knowledgecenter/en/SSAW57_8.5.5/com.ibm.websphere.nd.doc/
ae/container_wssec_top.html 

 

QUESTION 3

Which Performance Monitoring Infrastructure (PMI) metric is used to monitor the performance of JDBC data sources? 

A. Buffer Pool hit ratios. 
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B. Deadlock and Timeout Statistics. 

C. Number of live RDBMS sessions. 

D. Database and connection pool size. 

Correct Answer: D 

Reference: https://www.ibm.com/support/knowledgecenter/en/SSAW57_8.5.5/
com.ibm.websphere.nd.multiplatform.doc/ae/cprf_pmidata.html 

 

QUESTION 4

An administrator configured Web authentication for a Web module deployed in an application server to protect the URL.
After this configuration, application users could not load images that are protected on the web page. 

In addition to configuring com.ibm.wsspi.security.web.webAuthReq as a JVM custom property, which two property
values can an administrator set to resolve the problem? (Choose two.) 

A. lazy 

B. eager 

C. always 

D. transient 

E. persisting 

Correct Answer: DE 

 

QUESTION 5

To write a Jython script to stop a running application server, an administrator should use which administrative object? 

A. AdminApp 

B. AdminTask 

C. AdminConfig 

D. AdminControl 

Correct Answer: D 

You can use the wsadmin tool to stop applications. 

There are two ways to complete this task. Firstly, you can use the AdminControl object to stop the 

application. Alternatively, you can use the scripts in the AdminApplication script library to start, stop, and 

administer your application configurations. 
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Reference: https://www.ibm.com/support/knowledgecenter/en/SSAW57_8.0.0/com.ibm.websphere.nd.doc/
info/ae/ae/txml_stopapplication.html 
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